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Recall: The Number Line 2.5 50 15 way Ovec
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What happens to the numbers as we move to the RIGHT?
As we onovd RIGHT 0n o numbec Rng, the aumbecs inceease.

What happens to the numhers as we move to the )

As we Movd LEFT 0n & nuebgc g, the aumbecs deciense
Does the numher 2.5 exist on this numher line?

Yos. Even i€ nat labeled, all aumbers existon the number line.
Does the numher 50 exist on this numher line?

Yos. Even i€ nat shawn, all aumbers exist on the number line.



These are the symbols of inequality:

greater than greater than or equal to

less than S less than or equal to

not equal to




ext 122 > 12.02 ed = <7
0-20 o 0.5
ex22 03 <03 ext) |1 > 2,64

0.300  0.533
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One simple way o compace fwo aumboers is 1o convect Hham beth to decimols.
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